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feoqufy (1) g geaT 3ferard €1 T vt & forw amafed 3 ueat &
AT R B

Note: All questions are compulsory. The marks allotted for each question
are indicated against each question.

(ii) 3TRGIEART & FUH & W FU T 3R YT ATH, 3HeTshaATeh, HEITeT shog; I AH
3R foawT Tose ereet & faf@u|

Write your name enrolment number, Al name, and subject on the top of the first
page of the answer sheet.

1. frafaf@a & ¥ e va vea 1 363 J9rerr 40-60 2reel # S| 2
Answer any one of the following questions in about 40-60 words.

a) ‘HATSTATHT I GAR el H qATTEINS FANHdT &’ | T AT Tl 3GTEXVI GaRT HIYC

EQIE I (413-1¢H)
“Sociology has practical relevance in our life”. Explain the intent with suitable
examples. (See Lesson-1)

b) TIER HT FATSH & [aerrd & fToaR amfores srfafaser & A J ST ST & | 6T 379
3 TAOR I TgAd &7 TIEAT STV | (IT5-2 W)
Spencer’s view on the evolution of societies becomes known as ‘Social Darwinism’.
Are you also convinced with the statement? Explain. (See Lesson-2)

2. farafaf@a & @ frd) v Tea HT I T 40-60 2rsel H 0| 2

Answer any one of the following questions in about 40-60 words.

(a) TR RRUTI & 3eieh HfAPT TATRT &Y & | 3eTevT Ay aaram |
(I15-7 3H)
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Every status has many roles attached to it. Explain with example. (See Lesson-7)
(b) 3T fFE YR UTAHT &I 39T SliaeT T JfHAT 37T AT 8§27 (I13-8 W)
How would you justify that norms are indispensable part of our life?
(See Lesson-8)

3. frafaf@a # ¥ et v weeT &1 3 ST 40-60 2real & fSw) 2
Answer any one of the following questions in about 40-60 words.
a) o1 3TERON T Se[d HITTT ST 3Tk HTHR FHTS o TTAATA Td Heldl o iefehel Tel & |
(IT3-21 W)

Explain those behaviours which do not show conformity with norms & values of a
society. (See Lesson-21)

b)  3MYeh AR FRIGT & GaRT IATGROT & FeTaT & YT SARTERAT ¥ SIS ST Hehell ¢ |
(U13-22 &)

How education arouse awareness about the effects of environment? Write your
views. (See Lesson-22)

4. farafaf@d & @ fFdY T T2 FT 3aT ST9T99T 100 -150 2] A AT 4

Answer any one of the following questions in about 100-150 words.

a) iaEaHT Th HATSS TihAT §, S Tedeh Aleld AT TUT FEHiaar # Fereh g

gfaaaa’ S afehar I 37Id 3eTexor afgd quve HIfAT| (q13-2 38Q)
Competition is a social process found in all human society & culture. Explain the
process of competition with appropriate example. (See Lesson-2)

b) 3T HAT FASA & Toh Fohfaehior 3T IFMAHATARIOT T 3T THRT Th Ao
AT SRaT &9 sarEar fIfav| (I13-21 &)
Do you think that integration is a complex social process than acculturation and
assimilation? Explain. (See Lesson-21)

5. farafaf@a # & e va T2 &1 30T 91819 100-150 eAse # HfSw] 4

Answer any one of the following questions in about 100-150 words.

a)  HATATHAD H GART 2T UA-fAXqaT ¢2r 5?2 3T YA gany Have HfAv| (41>-15
)
Is really our country secular? Justify you answer with relevant facts.

(See Lesson-15)
b)  3MUF AER & U ThEor H gatfaar wld-wla @ § (A13-25 &)
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According to you what are the challenges to National Integration. (See Lesson-25)
i & a1 aRASaEt & @ F1€ v gRAear IR fifaw) 6
Prepare any one project of the following projects given below.

a)  3Yel Sclloh FI 10 AGATHT T ATGTAFR AlforC| TTTH 3eg Al arell TWaRT IR
DR AT T SAhRT GTCe HITTT| Sefehl FTATHIT & 3MUR ) Aol asf 7 37
QNerfOres, arenfor 3R 3nfies e &1 Joedses Reemordifae) (91e-34-v8E)

Interview 10 women of your locality. Find out the schemes & programmes given to
them by government and voluntary organizations. Based on their response make a
comparative analysis of their educational, social and economic development over the
years. (See Lesson-34A)

Or
b)  3Uel oIk H fhelgl 10 IRART @ A 3R 398 HHHA R Tsa arel fAfasieT &
HHRIAHS R FARRITHS FHTET & [T 7 G| WIETehR d =l & 3MUR W Teh Rufe
ford|

(T5-35-T W)

Visit any 10 families in your locality and asked them about positive and negative
impact of television on culture. Based on the interview and discussion with family
members write a report. (See Lesson-35A)
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